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Chapter 13 - Financial Statement Analysis

Exercise 13-1A  
a.
Percentage change for net income: -3.7%
Exercise 13-2A  Percentage change for net income: 25%
Exercise 13-3A  
a.
Percentage change for net income: 19.4%
Exercise 13-4A  12.50 times
Exercise 13-5A  No check figure

Exercise 13-6A

b.
Current ratio after the transaction = 1.83:1
Exercise 13-7A  
b.
Current ratio after the transaction = 2.2:1

Exercise 13-8A

Current Ratio :
1.5:1



Debt/equity ratio:   
1.8:1

Exercise 13-9A

a.
Accounts payable: $67,000. 

b.
Retained earnings: $60,000 deficit.

c.
Inventory:  $70,000

Exercise 13-10A  10 times
Exercise 13-11A  
a.
4.38 times

c.
19.23%

Exercise 13-12A

a.
Earnings per share: $9.50 

b.
Book value per share of common stock: $47.50

c.
Price-earnings ratio:  5.47 times earnings

d.
Dividend yield:  9.23%

Exercise 13-13A

a.
Current Ratio:  5.13:1

b.
Earnings Per Share:  $22.73 per share

f.
Debt/Equity Ratio:  25.39%
Exercise 13-14A No check figure
Exercise 13-15A  No check figure
Problem 13-16A Net incomes: $21,600 for 2015 and $26,000 for 2014
Problem 13-17A

Total current assets:  15.2%

Total current liabilities:  25.5%

Total stockholders’ equity:  9.0%

Net income:  -2.4%

Problem 13-18A
2014 percentages

Total current assets:  42.05%

Total current liabilities:  23.45%

Total stockholders’ equity:  51.94%

Net income:  15.62%

Problem 13-19A  No check figure

Problem 13-20A

C.
$498,000






H.
$195,000

J.
$675,000

Problem 12-21A

a.
Earnings per share: $4 per share


Price-earnings ratio: 14
Return on equity:
11.82%

Problem 12-22A

b.
2013
earnings per share: $9.00
c.
2014   price-earnings ratio: 7.58 times

d.
2013   return on average equity:  32.73%

e.
2014 Net margin: 16.88%

Problem 13-23A

2014 measures

d.  
$0.54
g.
16 times
m.
1.26:1
Problem 13-24A 
2015 measures

d.
4.60 times
k.
2.05:1

r.
4.34

Exercise 13-1B 
a.
Percentage change for net income: 14.8%
Exercise 13-2B  Percentage change for net income: 22.4%
Exercise 13-3B  
a.
Percentage change for net income: 7.3%
Exercise 13-4B  5 times

Exercise 13-5B  No check figure

Exercise 13-6B
b.
Current ratio after the transaction = 4:1
Exercise 13-7B  
b.
Current ratio after the transaction = 3.5:1

Exercise 13-8B
b.
Current Ratio :

2.2:1



d.
Debt to equity ratio:   
0.8:1

Exercise 13-9B
a.
$74,000. 

b.
1.35
c.
$240,000

Exercise 13-10B  16 times
Exercise 13-11B  
a.
7.94 times

c.
28.18%

Exercise 13-12B
a.
Earnings per share: $5.20 

b.
Book value per share of common stock: $4.30

c.
Price-earnings ratio:  7.69 times earnings

d.
Dividend yield:  9.00%

Exercise 13-13B
a.
Current Ratio:  4.22:1

b.
Earnings Per Share:  $40 per share

f.
Debt/Equity Ratio:  108.63%
Exercise 13-14B No check figure
Exercise 13-15B  No check figure
Problem 13-16B Net incomes: $97,600 for 2015 and $100,800 for 2014
Problem 13-17B
Total current assets:  -3.6%

Total current liabilities:  -20.0%

Total stockholders’ equity:  2.0%

Net income:  0.0%

Problem 13-18B
2014 percentages

Net income:  4.0%
Total current assets:  49.1%

Total current liabilities:  15.5%

Total stockholders’ equity:  44.2%

Problem 13-19B  No check figure

Problem 13-20B
C.
$630,000






H.
$258,000

Problem 12-21B
a.
Earnings per share: $5.21 per share


Price-earnings ratio: 5.83
Return on equity:
14.27%

Problem 12-22B
b.
2013
earnings per share: $14.40
c.
2014   price-earnings ratio: 3.75 times

d.
2013   return on average equity:  40%

e.
2014 Net margin: 12.8%

Problem 13-23B
d.  
2.18 times
g.
474 days
m.
0.27
Problem 13-24B 

d.
2.67 times

e.
$16.40 per share
j.
5.94%
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